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ctd, sfr q{=if d roq Afugts,ft cwf A 3i6 sqrr ttra-d errqrqo fr rp;a1 ord arq{q dffictdgrrurfi sRoft qi'ri

wfrqffir
Note: Answer all questions. All questions carry equal marks. Give calculation wherever necessary. Log

table may be provided on demand.
gor$ I,/Unit-I

1.(a)A,Bt o-ror t, "+fi oTrgsssrq at gETfi 3rg t fi{ Tfr t fus t-rq f, vf,{r q-.s en ffi gq 3ilq druR gn
sit<irqa-ofrfuc€'rea-o.grcrfro{rg+ftqdqn3Trgat5/6cdqr},qa+E{6rdqrsi.nt"AaqlBo1
qdqrr erg coreir t

A says to B, "I am now thrice as old as you were when I was of your age. If you and I both live till you are
5/6'h of my present age, I shall be 84." Find the present ages of A and B.

(b) go sdtfl fffdr to aerT gff o.r ftqfur o-{d t{dr t I vsd rfErq i drd ao qrr d ftd A ern B aer v€-d qis 'r8,ooo s,
a1 TS B I vo t-o +t arrra 4oors. dsil 9o. em of ar.ra soor. t I sS t-q rrr loos cfr T.r nqr gff rr{ 8oE. yfr qq irr drr
ekn tr 3rfuo,-dq aFT rrrqT o.-{i d fu} tfuq o.rd drs{r of gs srsqr or ,rmq q*rrr otffit rrfu6lqE t {sor 5q 41
qrq o1ffit 116 rrFr ftqr rrqr t fu q-qrqr rrqr wrft s-ffT{ fro, qror tt
A furniture seller prepares and sales tables and chair only there in space in his godown to store 80 units only
and he has a capital of Rs. 18,000. A table costs Rs.400 and a chair costs Rs.300. He earns a profit of Rs. 100
or each table and Rs.80 on each chair.
Give a mathematical formulator of linear program plan to get maximum profit. Obtain it solution by
graphical method. Assume that all the furniture made in sold.

eTersr,/or
(a) ra frfrri- Solve-

x+ y: Sxy
2x+3y:l2xy

Solve-
x+ y = 5xy

2x+ 3y : l2xy

(b)qoenerr-ffiAe-fiR6qtsrifolges-finft-dr+rerrortfuftarrdfrzTft-qAorqcoo-qto-qBqr-ro
sft ffi{ C or qao o-q d o-q 16 +riffi d t fraq I tl z qrr-6 frzrfu{ A cfr fu-qr ei}q I qrrfi ffi{ C cfr

fuTr t qsfu qtsq 11fr 1 qs-5 fteTF-{ Asft fo-qr 3fq 2 qrrm'frzrfi-{ Ccft fu-qr ttcfu fo-n $w Iot sQ-{i
il ss. qR fuqr .r}Gq II qi rg{rd d zs. o.rfr d I Bq{ffi o} vo tdq frTrq-{ wrrgrr rFird{ qlw 6Rr 6s ord ufr
fuqr ft+rq o.T qr-f,q {@ Erd o1ffi t

A dietician wishes to mix two types of foods in such a way that the Vitamin contents of the mixture
contains at least 8 units of vitamin A and 10 units of vitamin C food I contains 2 unit/kg of vitamin A
and 1 unit/kg of vitamin C while food II contains I unit/kg of vitamin A and 2 units/kg of vitamin C.
It costs Rs 5 per kg to purchase food I and Rs. 7 per kg to purchase food II. Determine the minimum
Cost of such a mixture formulate the above as a LPP and solve it graphically.

{o.r{ IIlUnit-II
2. (a) ur.a gro otffi: Find the value of:

tog2 + 16 log !9 + D bgz;+ z tog fr
(b) go q'd 'A' 15 {.fl{ 8.fr. oen 80 cqrq q vid 4.fr. 8-d qft cr6 e-{-ft t I {sfr tpd '3' 40 ffiq 8.ff. oen 100 sqrq

s yif, 4.fr. t-d cfr qr6 e-{rfi t I {s !f4{r oi urap Ec q fum nprT rdo u{ or 7 qra or sf,rr<=r sro otffi t

A manufacturing Unit 'A' makes 15 colour T.V. and 80 black & white T.V. set in a month. Another
Unit 'B' makes 40 colour T.V. and 100 black & white T.V. set in a month. Represent this information
into matrix form and find the production of each Unit in 7 months.

31qm /Or
(a) qfr log 358.74:2.5547798cp-n log 594154:5.773899 d d (. 35874)s oT qFI sro olM t

If log 358.74:2.5547798 and log 594154:5.773899 find (. 35874)s.



(b) AB srd ottui qR- Find AB if -
t-0

o= 
L;

,":[+ i]
{fi-r{ III//Unit-III

3.(a) erwo S 6' qrffi+. qru o1 << Q 4000 s. ?rT zq fuor t vsi 2500 s. grd fu{q q\ 9" qrfrlo qro of <t t
stm t fti orn ts {rRr lzohs,rffiT, qro of <r t A-{r ol t drc s{ Er< wsi vc +n t q-flRr qms do-r orq{r
o-d go ftqr I vs-6l 6nr q-d-gt 

1

Ajay obtained a loan of Rs. 4000 at an interest rate of 6o/o per year. He immediately lent Rs. 2500 at
an interest rate of 9o/o per year to Kiran and the balance at l2oh per year to Deena. After three years

he collected the amounts due to then and repaid his loan. Find his gain.
(b) 1200,o. Erfr15Efr n-6'Ttri qr$ qrFffi or q-f,qrq {il Erf, mftrir ffi-gk qro of << 4r/2" uM g,

Calculate the present value of an annuity of Rs. 1200 for 15 years. The rate of compound interest in
4r/2o/o per annum.

aIB4q /Or
(a) go .qfu i 4"hsrd 115 r. o1 <t d 1,tr rur va Eifi tt 43700 E. Er-qrqr I qq emn aeu 125 s. e) .rqr d \rsi

sr-+1fffi 6-r Atff*t t sTwqq 6\ 3' srd 95s. frt <t t qt xq qr d6 fr 6q1 f{qrrvsol Efilo eTrq fr Tqr
qM=T gqr t

A person purchased 47o debentures stock at Rs. 115 each worth Rs. 43700. When its market value was
Rs. 125 he sold it. He invested the money so received in a new 37o debenture at Rs. 95. What is the
change in his annual income.

(b) qft on d ae +t 20% sM a1 q{ t {dar Erq d va * d ge 6n tr.r ae 5 s{ d 3rd fr aqr d'n zrR gt-or
Tfqr+ 6v 24000 s. t r

If the value of a car gets depreciated by 20oh per year. What would be its estimated value at the end of
5 years its present value being Rs. 24000.

E6r$ IVlUnit-IV
a.(a) AaenB 6 qrffi6 eTrq 4:3 d ea-Eqrd d t sN s-+d qq or ergcrd 3:2 tt qft t fi 8 600 s. s{ d srd i {qri

t d e-d6 a1 Erffi6 enq qorgt 
r

The income of A and B is in the ratio 4:3 and their expenditures is in the ratio3:2.If they both save Rs.600 at
the end of a year find the annual income of each.

(b) qis dqrcli or silsf, 0 t t qrd t #{ riqili o.r si}so 4 t t erq A ri€ffili or si}sa fu-f,{r i I

The average of five numbers is 6 the average of three of these is 4 what is the average of the other two numbers.
wtq/Or

(a) 3500 s. t eTfu6 3lrq qr olrq?nr 9 q-$ sfr u.rqr t I qR 6t$ qfu 108 \8. sntrtr-{ c-dr t d srr+t q-o-a 3nrr inxr

r}.ft r

The income tax on the income above Rs. 3500 in a paise per rupee. If a person pays Rs. 108 as income
tax. What is his gross income.

(b) ftq sTr{fu ft-fi"r t sqnio-t Hw EteI otftilt- Find out arithmetic mean from the following data:
anr (rqrq d) Profit (in thousands) g_rri) 01 €c<r 11o. of shops

0-10 t2
10-20 18
20-30 27
30-40 20
40-s0 t7
50-60 06

{nd v/Unit-V
5.(a) go qr* \'Suz fuou qq 2"h r.ftrl,n cen 12000 s. t sw d f{in-q * 2 r/zoTrfas rrrkr 6{ril t I qs o-frcn derr

+{s d sc i 690 s. qTET o-rar t I futrq o1 nRr sro otM r

A travelling agent gets 27o commission on sales and 21/2o/o Bonus on sales above Rs. 12000. He receives
Rs.690 as commission and bonus. Find the amount of sales.

(b) ai g6 aq Bo) 10%Enqqr ffirBi {fr Aot 10%erft qr srrs tflryu wq,f fu-qr it Ao) qa ft-drflr
55 r. or errq rrrkr g3il t rq d vs Td TdT ai sn afrfrrt, fus qs A i gS stEr en r

A sold an article to B at a profit of l0o/" B sales it back to A at a loss of 10ol.. In the whole process A gained
Rs.55 in all. Find the original price of the article at which A purchased it.

121
2 3l
341



3IPrSr,/or
(a) Fr<fufua cfu{f,{ qqiEIT 6t cref-a-€ 6ift fqB t ra otffi-

Solve the followin north-west corner method-

(b) ffid fff{q fi 3TM 6t fu e-d crRsTft-o {rfu of ,r"rqr eftm-
3ffud {€ = 8000s.

Tr6-6i qn qrqrR-o qc.er : l0o/o
ft-o-q qq HrrIrdI ffi :5o7o

5000s. t 3Tfuo. A f{fr-q w d-ss :lo/o
From the following particulars, calculate remuneration payable to the agent:
Printed price: Rs.8000
Trade discount on sales :10"/"
General commission on sales :5o/"
Bonus on sales in excess of Rs.5000 = 17o

Destination
n

D2 D3D1 D4 1ftf Supply

t40l 6 4 1 5

8 9 7 7 t602
503 24 3 6

35rn f Demand 106 15 4


